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Lesson 11 Summary 

Any division problem is actually a multiplication problem: 

• 6 ÷ 2 = 3 because 2 ⋅ 3 = 6 

• 6 ÷ −2 = −3 because −2 ⋅ −3 = 6 

• −6 ÷ 2 = −3 because 2 ⋅ −3 = −6 

• −6 ÷ −2 = 3 because −2 ⋅ 3 = −6 

Because we know how to multiply signed numbers, that means we know how to divide 

them. 

• The sign of a positive number divided by a negative number is always negative. 

• The sign of a negative number divided by a positive number is always negative. 

• The sign of a negative number divided by a negative number is always positive. 


